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Whi : : i system’
hich one is a physical component of an ecosy

A air

B fungi

C  humus
D bacteria

What is the function of the vacuole in a plant cell?
stores salts and sugars
controls the activities of the cell

produces food by photosynthesis

o A = »

controls movement of substances in and out of the cell

The equation for anaerobic respiration in muscle cells is given below:

glucose 7 energy ~ Q
What is Q?
A carbon dioxide
B lactic acid
C alcohol

D water
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4, Fhe dingram shows Part of teeth on the upper paw of o biman bemg

i

The twoth labelled X is
a molar,
a canine.

an incisor,

T N = >

a premolar,
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The diagram shows a stage in the process of testing i leaf for starch.

/—-—-—m botling tube

: = alcohol
hot water —————fsoa_ -~
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Why is the stage shown important?
A to soften the leaf

B to make the leaf brittle

C to kill and open up the leaf cells
D

to remove chlorophyll from the leaf

40041 ) 020



An experiment on germination was carried out by planting 80 seeds and 50 seeds
germinated.

What was the percentage germination?

A

30100
071
50 100
R0 1

30 80

00 0T
50 80
100 1

Where does gaseous exchange occur?

A

B
C
D

Which one is mot a function carried out by the blood”

D

in the bronchiole
in the bronchus

in the trachea

in the alveoli

defence
excretion
transport

homeostasis

01 12020
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Why is transpiration good for a plant?
A It helps the plant to take up water and mineral salts.
B It helps to transport sugars around the plant.
C It maintains a balance of starch.
D

It keeps the plant cells turgid.

The diagram shows the double blood circulation system in humans.

lungs

heart

rest of
the body

Which blood vessels are thick walled?

A land2
B land3
C 2and4
D 3and4

4003 [ 32020



12.

I'he diagram shows the strueture of o wind pollinated flower

Which part produces pollen grams”

The diagram shows the transfer of a substance between the placenta and the uterine

wall in a pregnant woman.

umbilical cord

The substance carried in the direction of the arrows is

T A =

urea.
oxygen.
glucose.

an antibody.

4003/1 12020

uterine wall

placenta
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15.
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The diagram shows the life cycle of the anopheles mosquito.

/ Q0 () \\
K T,
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Which method can effectively control the mosquito at stage J?
A spraying with insecticide
B using mosquito repellents
C covering water ponds with oil
D

cutting grass around the home

Active immunity may be developed by

A suffering and recovering from a disease.
B breast feeding for at least six months.

C avoiding contact with sick people.
D

being injected with antibodies.

The Avogadro’s number is the number of
A particles in one mole of a substance.
B protons in one mole of a substance.
C electrons in one mole of a substance.
D

neutrons in one mole of a substance.

40011 12020
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Phe two types of sub-atomic particies found o the nucleus are the

A electron and proton
B electron and neutron
€ proton and neutron
D nucleon and clectron

The symbol 20 represents an atom of otvgen
How mam neutrons does the atom have

A s

B 0

C s

What 1 the relatrve molecular mass of watestH ()

ArofHu !l ArofOm sl
A 4
s 17
C Is
B
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The diagram shows (he type of honding i a compound, X3

XY has

A hydrogen bonding .
B metallic bonding,

C  covalent bondimng.
D

tonic bonding.

Which product is formed when a metal

A asalt
B anoxide
C acarbonate
D

a hydroxide

The best method of separating
filtration.
evaporation,

simple distillation,

D A @ »

fractional distillation.

X:

amixture of ligquids of diffe

004 | )

eacts with air?

rent boiling poimnts 1«



23.

24.

A solution has a pH of 6.
The solution 1s a

strong acid.
weak acid.

strong base.

T N = p

weak base.

11

A neutralisation reaction occurs when

>

a salt only is formed.
water only is formed.

oxidation only occurs.

T N w

water and a salt are formed.

The production of ammonia requires

pressure of 200 atm to 300 atm.

temperature of 200 °C to 250 °C.

A
B
C vanadium (V) oxide catalyst.
D

sulphur dioxide and oxygen.

What type of a reaction occurs when carbon monoxide reacts with iron (111) oxide?

A oxidation only
B reduction only
C decomposition only

D oxidation and reduction

4003/1 J2020
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27.
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Which fuel is a hydrocarbon?
A hydrogen
B coal gas
C  butane
D

ethanol

The diagram shows an organic molecule.

The molecule is

A ethane.
B ethene.
C ethanol.
D

propene.

A possible unit of density is
3
A cm/g.

B cmig.

@]

3
g/cm .

=4

3
g /cm.
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P gt shows A e e i

MBI e ot stimple v haiie s showin i the diagram?

A T
t‘ Ty
Copullny

B hined plan

Ve Hoet o 130 N paises o load of 600 N through a distance of’ 2 m. The effort

Wov s A distance ot 10 m

W Lot s the eftivieney of the system’”

L S L
“ i\‘-‘l
4 4 R

D Nt

Hydiaulic systems are based on the tact that

A liguids cannot be compressed.

B hguids Hlow cannot be stopped.

C o pressuie in Liquids iereases with depth.

1 hgquids tansmil equal torces i all directions,

40081 12020
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34.

35.

Convecton takes place i
A pases and soluds

B gases and liquids

C hquids and sohds

D pases, hguids and solids,

What is the purpose of the curved surtace of a solar cooker?
Ao absorb maximum energy from the sun

B 0 focus energy from the sun to the po

C o reflect heat away from the pot

D 1o absorb heat from the pol

The diagram shows a carburettor.

Which part controls the amount of air that mixes with petrol?

+,,\\ ) B A . D
r
& !

N

Air, with a pressure ot 400 Pa, acts on a wall of area 5 m .

What is the force exerted by the air?

A 8ON
B 395N
C 405N
D 2000N

A00V/1 120
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Fhe energy change that happens to informatian before transmiss o0
1

A sound to light,
B light 1o sound.
C  electrical 1o sound

D sound to electrical.

An electrical apphance with double insulauon does not have
A aneutral wire,

B an carth wire,

C  alive wire.

D insulation,

Which material is used to make a core of an electromagnet”

ron

A

B steel
C copper
D

aluminium

ETr TR 170

in 2 cell phone
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40.
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The diagram shows an alternating current generator.

Which component allows current to change direction?

Which graph shows the relationship between voltage (V) and current (1) in a pure
metal?

A B
A
VIV vV
\\
S
~
"
\\‘
"
1A A

« D

vV ViV

S

I'A

——

I'A

40081 12020




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

